	QUIZ #9
	CIS 068 Section 2, 
	

	Topics :
	Hashtables and Game Trees

	NAME (printed):
	


	QUESTION
	SC

	Assume a set S given. Does it matter in which order the elements are added to a hashtable, i.e. is it possible that a different order of adding elements will lead to different hashtables ?  Give an example for your answer !

Answer: YES.

Example: elements: 5, 5.2 , hashfunction: d -> round(d)

Hashtable-size: 2  

5, 5.2 => 

5.2

5

5.2, 5 =>

5

5.2
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	Consider the following set S of integers:

S = {3,6,14}

Consider  the hashfunction h  given by: h(s)= s.

What is the MINIMUM size n of the hashtable such that there’s no collision ?

Min. size must be >=3, so start testing with 3:
3 collides with 6

Continue…
6 coll. with 14

3

6

3

14

Ok.
=> min. size = 5
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	Imagine a FULL binary game tree, with leaf node values (from left to right) 
9,-1,2,4,-7,-8,3,8
a) Draw the tree

                  *

         /                \

        *                 *

   /        \         /       \

  *         *        *       *

/   \      /  \     /  \    /   \

9  -1  2  4  -7  -8  3  8

b) Evaluate all nodes using the min-max strategy. Min-max order: the root node will inherit the MAX value of its children.

                  4

         /                \

       4                 -7

   /        \         /       \

  9         4      -7      8

/   \      /  \     /  \    /   \

9  -1  2  4  -7  -8  3  8
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	Draw the tree again and show which subtree(s) you can cut off using alpha-beta pruning
                  4

         /                \

       4                 -7

   /        \         /             <= this subtree can be pruned by alpha-beta pruning

  9         4      -7         *

/   \      /  \     /  \       /   \

9  -1  2  4  -7  -8     *  *
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